MAT 223, Discussion Qu
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2. Find a 95% confidence interval for P = 59% and a sample size of 1100.
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>paper at a college asks a simple random sample of 250 undergraduates, “Do
Fcing supplemental fees for lab courses?”
eliminating such fees.

Inall, 150 of the 250 are in favor of
Find a 95% confidence interval not using the quick method.
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ple of 1523 adults. Of these, 868 bought a lottery
confidence interval for these results.
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ts found that 62% expect an increase in environmental pollution in the next
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